A few notes on how to run the “Drag Simulator” on your machine for homework 2:
For Windows OS:
After following Dr. Grammacy’s notes on how to run the code, there are a few steps that you need to take in order to run it without any errors. 
1- After downloading the Rtools, you need to define three “environmental variable” in your system.
To do this, you can either follow the instructions of this link or do these steps:
· Type “System” in your “search windows”. Go to the “Advanced Systems Setting”. Then go the “Advanced” tab. Click on “Environmental Variables”. Under “System Variables”, find “Path” and double click on it. Then click on “New” for each of the following paths:
· C:\Rtools\bin (note that you might have installed your “Rtools” on a different path, but the bin folder should be the same for everyone.)
·  C:\Rtools\mingw_64\bin 
· You also need to add R to your path. This is an example of R path: C:\Program Files\R\R-3.5.1\bin
2- [bookmark: _GoBack]Download the codes from the lower left side of the codes’ website (https://bitbucket.org/gramacylab/tpm). The file size is about 1 GB, but we only need the “tpm” file with the size of ~87 MB. Copy the “tpm” file to let’s say your homework folder.
There seems to be an easier way to clone the repository using “git clone”, but it did not work on my machine.
3- In your RStudio code, you need to change two things (only change the parts that are shown with italic text). Do not forget to use your own file addresses.
a. mesh <- "C:/Users/Space/Stat 6984/Homework/HW2/tpm/Mesh_Files/GRACE_A0_B0_ascii_redone.stl"
b. source("tpm/R/tpm.R")
4- In the “tpm.R” file, you need to change the code in line 127 like this:
a. dyn.load("C:/Users/Space/Stat 6984/Homework/HW 2/tpm/src/tpm.so")
